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EREP20: nfEDEL LD SKERYETHEE DEHCHhLF

NRIZkBE,

C(n, k) = C(n-1, k-1) + C(n-1, k), 0<k<n® &ZF,

C(n,0)=C(n,n)=1,

THHML, BELICRODTAT S L%[5.

int C(int n, int k){
1f(k==0 || k==n) return 1;
return C(n-1, k-1) + C(n-1, k);
;

ST E R DR

EDTOT S LEERERICETLT
HBE, MNMIYBRNMNEIEN
nNd.

FrRI DM D RE & ?

CnKZtETHDICET HRREIZT(nk)ET DHE,
T(n,k)=T(n-1,k-1)+T(n-1,K)BAYILD. £2T, T(nk)=C(n,k).

ST e B 2.
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Number of combinations

Problem P20: Calculate the number C(n, k) of combinations
to choose k 1tems from n different items.

Using the formula,
C(n, k) = C(n-1, k-1) + C(n-1, k), 1f O0<k<n,
C(n, 0) =C(n, n) = 1.

Therefore, we have the following program.

int C(int n, int k) { When you implement the program in
if(k==0 || k==n) return 1; practice, you will find that it takes much
return C(n-1, k-1) + C(n-1, k); time. Why does it take time?

;

Analysis of computation time:
Let T(n,k) be time to compute C(n,k). Then, we have
T(n,k)=T(n-1,k-1)+T(n-1,k). Thus, T(n,k)=C(n,k).

This 1s an exponential function. 440



TS LDMETRSTHED !

C(5,3)
- T
C(4,2) C(4.,3)
C(3,1) \C(‘3,z) ?3,2) C(3,3)
VAR / N\ \
C(2,0) C(2,1{A C2,1) C222) C@2,1) C22)
/ SO\
C(1,0) C(1,1) c(1,00 cC(1,1) €(1,00 C(1,1)
DOV LDOKEF

RICEIZX L CREAMMAMEIELFEVRHIN TS,
fBl:CE))IF2BIFEUNHIN TS > HEEX

MOTO,DMIZDNVTCKDIEZETE T HEE, FD
EZERINDNMNERELTEATHS, RILERIT2EL
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Let's analyze behavior of the program!

C(5,3)
T
C(4,2) C(4.,3)
C(3,1) \C(‘3,z) 73,2) C(3,3)
VAR / N\ \
C(2,0) C(2,1{A C2,1) C222) C@2,1) C2.2)
/ SO\

C(1,0) C(L,1) c(1,00 c@a,1) C(L,o) C(L1)

How 1s the function called
The function 1s called many times for the same value.
Example: C(3,2) is called twice.=»redundant

If we store the value C(n,k) as the (n,k) element of an array
when it is first computed, then the same value 1s never computed

twice. Basically, it suffices to fill in the table. 6740



Cnk)DREEDH KD !
N :C(n,k) = C(n-1,k-1) + C(n-1,k)

n-1{TEDENSI>TLINIK, FEIZCh,METE A FE

C(n,k)

&£oT, 2RO ERMHIL

O(n?)FFfHE]

D> ELoT, YTEMNSIEICEDH TULMFILEKL.
ol 112|314|5| [o|1]2]3]4]s| |o|t|2]3]4]s]|[ [of1|2 |3 |45

0|1 01 0|1 0|1

JENR! 1] 1)1 11

2| 1]2]1 2| 12]1 20121 2| 1]2]1

3 3[1]3[3]1 301(3]3]1 3011313 |1
4 v

4 4 41114641 411046 4 |1

5 5 5 s|1]5][10]10]5 |1
RKOFTERIITEHEFHRT

C(n-Lk-1) C(n-1,k) FTEAIRE.
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Fill in the table C(n,k)!

Formula: C(n,k) = C(n-1,k-1) + C(n-1,k)

If the values 1n the (n-1)-st row are available, C(n,k) 1s easily

computed. =» Thus, we should fill in the table from the 1st row.

S

1

2

3

4

5

1

[GEE BT "

2

Nl Dh|lWIN|I—~|O

ol1]2]34ls|] lol1]2]3]4]5 ol1l2 [3 |45
01 01 01
111 11 111
211]2]1 201(2]1 201]2]1
XV RV
31113(3 1 301(3]3]1 311[3]3 |1
0 v
4 4147641 411046 4 |1
5 5 s11[5[10]10]5 |1

C(n-1,k-1) C(n-1,k)

C(n,k)

Each element of the table can be

computed in constant time.

Thus, the total time 1s
O(n?).
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CEZENTOUSLIEITDEY:
int C(int n, 1t k){
C[O][0]=1;
for(i=1; 1<=n; 1++){
C[1][0]=1; Cl[[1][1]=1;

for(G=1; j<i; j++) EE Ml E8-1: RAME A
C[i][j] = C[i-1][j-1] + C[i-1][j]; | | A2, C(nk)DYA—73—
b 2a—LEWVEL[E&HR T
return C[n][k]; A —/N\—TO—LEE&
J QGETREAEZZTEZATHK
RIGEHE2:

n!

C(nk) = (n_k); o CHBILEMDE, OB TEFH AIAE.

==L, COAETEEB#HOA —/\—OO—[TFE.
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C program 1s as follows:
int C(int n, 1t k){
C[O][0]=1;
for(i=1; 1<=n; 1++){
C[1][0]=1; C[[1][1]=1; Exercise E8-1: Consider an
for(j=1; j<i; j++) algorithm that computes
Cli]j] = C[1-1][3-1] + C[i-1][3]; | | C(n,k) based on the Naive
} 1dea such that it computes
return C[n][k]; C(n,k) correctly 1f C(n,k)
} itself does not overflow.

Naive Algorithm 2:

Using the formula C(n,k) = n! , 1t can be computed in O(n).
(n-k)! k!

Here, note that this algorithm may suffer from numerical overflow.
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T4 R TYFHDEE

FREP21: RA TERIND IR T YFHRF)ZERO K.
F(n) = F(n-1) + F(n-2), n>1MD&EE,
F(0)=F(1)=1.

4R FVFE
1,1,2,3,5,8, 13,21, 34, 55, 89, 144, 233, ...

S MEIRE ES-2: EIREP20LRIFRDEREZERE L.

T4 R T YFHF0n)E, EELOFRAWNT,
F(n) =O(¢")

ERT EMTED.

d=(1+V5)/2=1.61803
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Computation of Fibonacci number

Problem P21: Compute the Fibonacci number F(n) defined by
F(n) =F(n-1) + F(n-2), 1fn>1,
F(0)=F(1)=1.

Fibonacci number:
1,1,2,3,5,8, 13, 21, 34, 55, 89, 144, 233, ...

Exercise E8-2:Have an argument similar to that in Problem P20.

Using the golden ration ¢, the Fibonacci number F(n) can be
represented as

F(n) = O(¢9")
where ¢=(1+V5)/2=1.61803.
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B HD XFS

MEEP22: REInEmD 2 DD XFIAEBNEZoNT-EE, WA
DXFIZH BT IR XNFI THREDEDZERKRD L.

Bl: A=GAATTCAGTTA,B=GGATCGAMDEE,
GATCAIXH BRI AN XFIITHS.

A= GAATTC AGTTA

B=GGA T CGA

MXEINADIFEEDERD XXFEFIA D XFEFIBDER XX FEFH
ESME, ADNXNENINXFIBIZEWVTCHELCIEIZHIET 5H
EOMNETFRNITLLY. DEETER THIERIRE

EENRE ES-3:2DMXFHEANLT, mPIDXIXFFHIM2
BFHDODXFIDOEDXFIHNGE->TWNAIMEOI N TR M T

¥IETSHTOTSLEET.
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_ongest Common Subsequence

Problem P22: Given two strings A and B of lengths n and m,
find the longest substring common to both of them.

Example: ForA=GAATTCAGTTAandB=GGATCGA,
the longest common substring 1s GATCA.
A= GAATTC AGTTA

B=GGA T CGA

Any substring A' of A 1s a substring of B if characters of A' appear
in the same order in the string B.
=> It can be determined in linear time.

Exercise E8-3: Write a program to determine whether the first
string of two 1nput strings 1s a substring of the second string in
linear time.
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7ILT) X LP22-A0: (BiAE)
XFHADITRTDERXFIIANIZDNT, AHBXXFSIBD
A XFEHZEHD>TWNBIMNESIIZENIND, REEVVEEXF

Nz RICHNT 5.

T E B D R AT -
REnDXFIHNDEH XFI I EET2MEYHS.
CDXFINXFIBLYRWNEEE, BBSMNIZXFS
BD &R X FFHTILAZ0N.

I THWEE, ZRENIZOMm)DEREA IS
&oT, 2R DOFTERMBIL, 02" mEFRMELS.

b [[1]]

ER{EIEaIgEM ?
ZIEXBEOT7ILTYXLITEET SN ?
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Algorithm P22-A0: (Brute-Force Algorithm)
For each substring A' of a string A, determine whether A'1s a

substring of a string B, and finally output the longest common
substring.

Analysis of computation time:
There are 2" different substrings of a string of length n.

- If this substring 1s longer than the string B, obviously it is not
a substring of B.

 Otherwise, each test takes O(m) time.
* Thus, the total time 1s O(2" m) time.

Is 1t possible to have faster algorithm?
Is there any polynomial-time algorithm?
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F7ILTY X LP22-Al:
A=aa,..a,B=bb,...b

L[i,j] = a,a,...a;&bb,... bDEHRFRIL BRI XFI D RS

TS

(0) i=0FE 1= [&j=0D &=, L[i,j]=0.
(1) a;=b> L[ij] = L[i-1,j-1]+1
(2) ai#b> LIij] = max{ L[ij-1], L[i-1, j]}

A=GAATTC AGTTA
B= GGATC GA
a,=bND&ET

LT=m>T, SELRL[L,ZIEIZEHTLMFIEELL!
FDH A X[In xmi=Hh 5, FTEEHEBHOMm)EFHE.

A=GAATTC AGTTA
B=GGATCG A
a#b,M L=
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Algorithm P22-Al:

A=aa,..a,B=bb,...b
L[1,j] = the length of the longest substring common to a,a,...a. and
b;b,... b,

Observation:

(0) if 1=0 or j=0, L[i,j]=0.

(1) ai=bj% L[i,j]=L[i-1,;-1]+1

(2) ai;ébje L[i,j] = max{ L[i,j-1], L[i-1, j]}

A=GAATTC AGTTA A=GAATTC AGTTA
B= GGATC GA B=GGATCG A
when a;=b. when a;#b;

Therefore, 1t suffices to fill in the table L[1,j] in order.
Since the table size 1s n X m, 1t takes O(nm) time.
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B=/XZYYZXXY XXZ

A=XYXXZXYZXY,
D EZDENEH

A= X Y XXZXYZXY,

B=ZXZYYZXXYXXZ

return L[n][m];




Algorithm P22-Al:
for(i=0; 1<=n; i++)
L[1][0]=0;
for(j=0; j<=m; j++)
L[0][ 3] =0;
for(i=1; 1<=n; 1++)
for(j=1; j<=m; j++)
if( afi] ==b[j]) L{1][j] = Li-1][-11+1;
else L[1][j] = max{ L[1][-1], L[1-1][j] };

return L[n][m];

0o (1 ]2 13 |4 |5 |86 |7 |8 |o |10 |11 12
Example for the case 0 [0 jojojo jojo o Jo jo |0 ]o [0 |0
1 o o 2 2 |2 [ |1 |1 |1 |1 |1 1 1

A:XYXXZXYZXY and 2 o o [1 (2 |2 |2 |2 |2 |2 [2 |2 2 2
. 3 o o |1 |1 [2 |2 |2 |3 |3 |3 |3 3 3
B=/XZYYZXXYXXZ 4 o o 2 2 [2 |2 |2 |3 |4 |4 |4 4 4
5 o 1 ]2 ]2 [2 |2 |3 |3 |4 |4 |4 4 5

6 o (1 ]2 ]2 [2 |2 |3 |4 |4 |4 |5 5 5

A: X Y XXZXYZXY, 7 o |1 [2 ]2 [3 [8 |3 [4 [4 [5 |5 5 5
B:ZXZYYZXXYXXZ 8 0 |1 |2 |3 [3 [3 |4 |4 |4 [5 |5 5 6
9 0o 1 |2 |3 [3 |3 [4 |4 |5 |5 |6 6 6

10 o |1 |2 |3 [4 |4 [4 |5 |5 |6 |6 6 6

26740
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REREDERRTZIBEOHLIILICKYRDOLNDD, TDEZ
EMRT AREEIIEDLIITEAT NILELD?

E_E/\LI:I \I$§Ijo)ﬁ:ﬁ —Clj::ﬁ_ﬁd)/\LI:lB \I%gljd)
RS (mERDE) 21T TEL, XFIZzD+HD (miEeE)
KET=LY.

REBHLHEE, LIOIGIREIRILEDE DIEIZL>TRE-ST-
MEFELExd 5

(1) a;=b;=2 L[i,j] = L[i-1,-1]+1
(1 1,j-DZEeiE

(2) a#b;> L[i,j] = max{ L[i,j-1], L[i-1, j]}
L[i,j-1]>L[i-1,j]]JD&EE, (i, j-1)ZFEL1E,
FITHWEE, (-1, H)ZEE
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Construction of an optimal solution

The value of an optimal solution 1s obtained by filling in the table.
How can we construct an optimal solution achieving the value?

In the problem of finding the longest common substring, we want
to find not only the length (value of an optimal solution) but also
the longest such substring (optimal solution) itself.

When we fill in the table, we memorize which table element
determined L[1][j].

(1) a;=b;=~ L[i,j] = L[i-1,-1]+1
(1-1, j-1) 1s memorized

(2) a#b;~> L[i,j] = max{ L[i,j-1], L[i-1, j]}
if L[1,)-1]>L[1-1,] then (1, j-1) 1s memorized, and
otherwise, (1-1, J) 1s memorized.
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B TOT5 4

for(i=1; 1<n; 1++)
for(j=1; j<m; j++){
if( Al1] ==

B1
} else

d
L[1][j
1f( L[1

[ |
Bl[
} else

L[i]

|
L[1][j
[1]

B1[i

|
i
|
1

U
1]

d
U
]

10-
]:
Ul=

]
U

B

]

= L[i-1][-1] + 1;
1=1-1; B2[i][j] =

1][]
max2(L[1][j-1], L[i-1][j]);
[1-

( 1],
17> L{-1][5])1
L1 ]D 1;

B1[1][j-11; B2[1][j] = B2[1][}-1];
1015
1-

L[i-1
B1[i-1][j]; B2[1][j] = B2[1-1][j];

EEMRE E8-4: ERITTRI S LT >TEEE
fEelE &
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Concrete program

for(i=1; i<n; 1++)

for(j=1; j<m; j++){
=B[]){
L[i-1][3-1] + 1;
=1-1; B2[1][j] =

if( Afi] =

L[]
Bl[i]
} else

d
L[1][j
1f( L[1

[ |
Bl[
} else

L[i]

B1[i

1=

U]
|
1

10-

[
max2(L[i][j-

1, L-10D:;
17> L{-1][5])1

1= [][11]

1]
d
U
|

]
U

]
U

1=

]

B1[1][j-11; B2[1][j] = B2[1][}-1];

1015
1-

L[i-1
B1[i-1][j]; B2[1][j] = B2[1-1][j];

Exercise E8-4: Write a program in practice to see
its behavior.
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A=XYXXZXYZXY, B=ZXZYYZXXYXXZDiFE&

Ny LSy RADORE

1

2

3

4

D

6

7

8

9

10

11

12

(0,0)

(0,1)

(0,1

(0,1)

(0,1)

(0,1)

(0,6)

(0,7)

0,7)

(0,9

(0,10)

(0,10)

(0,0)

(0,1)

0,1

(1,3)

(1,4)

(1,4)

(1.4)

(1,4)

(1,8)

(1,8)

(1,8)

(1,8)

(0,0)

(2,1)

(0,1

(1,3)

(1,4)

(1,4)

(2,6)

(2,7

(2.7)

(2,9)

(2,10)

(2,10)

(0,0)

(8,1)

(0,1

(1,3)

(1,4)

(1,4)

(3,6)

(8,7)

(3,7)

(3,9

(3,10)

(3,10)

(4,0)

(8,1)

(4,2)

(1,3)

(1,4)

(4,5)

(3,6)

(8,7)

(8,7)

(3,9

(8,10)

(4,11)

(4,0)

(5,1)

(4,2)

(1,3)

(1,4)

(4,5)

(5.6)

(5,7)

(3,7)

(5,9)

(5.10)

(4,11)

(5,1)

(4,2)

(6,3)

(6,4)

(4,5)

(5.6)

(5,7)

(6,8)

(5,9)

(5,10)

(4,11)

(7,0)

(5,1)

(7,2)

(6,3)

(6,4)

(7.5)

(5.6)

(5,7)

(6,8)

(5,9)

(5.10)

(7,11)

(7,0)

(8,1)

(7,2)

(6,3)

(6,4)

(7.5)

(8.6)

(8,7)

(6,8)

(8,9)

(8,10)

(7,11)

(7,0)

(8,1)

(7,2)

(9,3)

9,4)

(7,5)

(8,6)

(8,7

9,8)

(8,9)

(8,10)

(7,11)

1
2
3
4
5
6
7 (4,0)
8
9
0
L

10][12]hvo# 2l 5 &

L[10][12] >L[7][11]>L[5][10]>L[3][9]>L[2][7]>L[1][4]~>
a[8]b[12] a[6]b[11] a[4]b[10] a[3]b[8] a[2]b[5]

@i( E/\LH \X$§I“j:

123456789A 123456 189ABC

XYXXZXYZXY  ZXZYYZXXYXXZ

LIO][1]
a[1]b[2]

XYXXXZ
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For the case: A=XYXXZXYZXY, B=/ZXZYYZXXYXXZ
Table for backtrack

1

2

3

4

3}

6

7

8

9

10

11

12

(0,0)

(0,1)

(0,1)

(0,1)

(0,1)

(0,1)

(0,6)

0,7)

0,7

(0,9

(0,10)

(0,10)

(0,0)

(0,1)

(0,1)

(1,3)

(1,4)

(1,4)

(1,4)

(1,4)

(1,8)

(1,8

(1,8

(1,8)

(0,0)

(2,1)

(0,1)

(1,3)

(1,4)

(1,4)

(2,6)

(2,7

(2,7)

(2,9)

(2,10)

(2,10)

(0,0)

(8,1

(0,1)

(1,3)

(1,4)

(1,4)

(8,6)

(8,7

(8,7

(8,9

(3,10)

(3,10)

(4,0)

(8,1

(4,2)

(1,3)

(1,4)

(4,5)

(3,6)

(8,7

(8,7

(3,9

(3,10)

(4,11)

(4,0)

(5,1)

(4,2)

(1,3)

(1,4)

(4,5)

(5,6)

(5,7

(8,7

(5,9

(5,10)

(4,11)

(4,0)

(5,1)

(4,2)

(6,3)

(6,4)

(4,5)

(5,6)

(5,7

(6,8)

(5,9

(5,10)

(4,11)

030 Otix WODN

(7,0)

(5,1)

(7.2)

(6,3)

(6,4)

(7,5)

(5,6)

(5,7

(6,8)

(5,9

(5,10)

(7,11)

(7,0)

Ne)

(8,1)

(7.2)

(6,3)

(6,4)

(7,5)

(8,6)

(8,7

(6,8)

(8,9

(8,10)

(7,11)

10 (7,0)

(8,1)

(7,2)

(9,3)

9,4)

(7,5)

(8,6)

(8,7)

9,8)

(8,9)

(8,10)

(7,11)

If we trace the table from L[10][12]
0][12] =L[7][11]=>L[5][10]=>L[3][9]=>L[2][7]=>L[1][4]~>
a[81b[12] a[6]b[11]

L[1

a[41b[10]

1n reverse order,

Thus, the longest common substring 1s

123456789A

123456 789ABC
XYXXZXYZXY  ZXZYYZXXYXXZ

XYXXXZ

LIO][
a[3]b[8] a[2]b[5] a[l

1]
1b[2]
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BIREP23: (£ R EEEEEEE)
BEHADENTIINEZoNT=LE, 2 THIEARIZDULNT
TNLDRINREREBODREIZ RO L.

. 15
®~ @ (1 2 3 4\
0 1| 0O 5 o w
3 50 IR [_2]5 015 5
@ ;@ 313000 0 15 it 2= B
G 4150 5 0 ERRETT S
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Problem P23: (All-pairs shortest path problem)

Given a weighted graph, for every pair of vertices find the length
of a shortest path between them.

®< @ 1 2 3 4

0 1(0 50w
3 50 IR [_2]5 015 5
3

3000 0 15 distance
15

) | 4150 5 0 matrix
Dijkstra's algorithm

Input: Weighted graph consisting of n vertices and m edges
Output: Distances to all the vertices from one arbitrary vertex.
Computation time : O(m + n log n) time, or O(n?) time.

Hence, applying the Dijkstra's algorithm for each vertex,
computation time is O(nm + n’log n) or O(n?).

Since the number m of edges is O(n?), it takes O(n’) in the worst
case.

Any faster algorithm?
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Property of a shortest path

A%

=» subpath from u to v and subpath from v to w are both shortest

Any vertex on a shortest path from vertex u to vertex w.

paths from u to v and from v to w, respectively.

O\ w
O} \
Why: If the subpath from u to v 1s not shortest,

we can shorten the path from u to w by replacing its
subpath by the shorter one, which 1s a contradiction.
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D\[1.J] = min{ Dy y[1.J], Dy 1[1K] + Dy 4[KJ] }

f=12L, Dyfijl=L[ij] (EEOEE=1OE)

Dy, Dy, Dy, ..., D, DIBIZFHEZITAIE KL

7IL31) X LP23-A0:
EEEESTHZD0ET S.
for(p=1; p<=n; p++)
IARTOA))IZDNT
D[pala.]] — mln{ D[p'laiaj]a D[p_lalak]_l_D[p'lakz]] }

31/40



D, [1,J] = the length of a shortest path from vertex I to vertex |
only through the vertices in the set {1,2,....k}.
Case 1 :1f the shortest path does not pass through vertex k
=>» same as D, 4[1,]]
Case 2: 1f the shortest path passes through vertex k
=»shortest path from 1 to k+that from k to j

Dyl1.J] = min{ Dy 4[1)], Dya[K] + Dy [KJ]
where, Dg[i,j]=L[i,j] (direct distance=edge length)

Dy, Dy, D,, ..., D,should be computed in this order.

Algorithm P23-A0:
Let DO be the distance matrix.
for(p=1; p<=n; p++)
for each (1,))
D[pala.]] = mln{ D[p'laiaj]a D[p'lalak]+D[p'1>k>J] }
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Problem on Space Requirement

The previous algorithm requires a 3-dimensional array.
=>when we have computed D,, we don't need to store D, ;.
Hence, only one array is sufficient.

We want to compute not only the lengths of shortest paths but also
shortest paths themselves.

P,[1,J] = the vertex number immediately before the vertex j on the
shortest path from 1 to j through {1, 2, ..., k}.

Using 1t, we can trace back from the terminal vertex to the initial

vertex.
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Exercise E8-5:Describe the behavior of the algorithm P23-A0 for
the graph below.
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